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A principal becomes tk.1625 as profit principal in 3 years and in 5 years it becomes tk.1875 as
profit principal.

What is the profit of 2 years?

Find the principal and rate of interest.

At the same rate of profit. In how many years the profit principal will be tk.22507?

At the same rate of compound profit a principal will amount TK.19500 after one years and
TK.20280 at the end of 2™ years.

Write down the formula of compound principal.

Find out the principal and rate of profit.

Find the difference between the simple profit and compound profit after three years at the
same rate of profit



